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while True:
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print(" L3RS SR1")
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print("ECIRESR2")
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else:
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list_one = list()
for i inrange(5):
a = input("IBEADEL: ")
list_one.append(int(a))
list_one.sort()
list_one.reverse()
list_two = list_one
list_two.sort()
list_twoll] =12
print(list_two)
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list_one = tuple()
for iinrange(5):
a = input("IEWIALDE: ")
list_one.append(int(a))
list_one.sort()
list_one.reverse()
list_two = list_one
list_two.sort()
list_two[l] = 12
print(list_two)

ZI@N 3

IsE SRR, JTTHESIIRNXA, HAELWeERHREERERTENTR



o
t_.\l}
A3
an
ud
—

IR 1

BRENE, RUEMER, EXEFRABF2MELE, EFEFRFEEARE
B, MRAZNREAFBt51%, BEAINETFHN, AFB2AEFHEH, F4H
“1233217, MBARZESEL



FI@N 2 :

BERENL, EZHEFNMA, #H, FIMESEHLANNTF, MREBHHRF, NE
=TED, ARAZE, WEFaEERNERER L.

IR 3 -

BRSNS ERAFRA, FEAE, MRBANTESZBFFNITED: JFSHE
BN, WRAZE, NIREESHETYA, REROYARENMERER.



S&!
u.\]].
A3
an
uu
N

1. FRSHEIL

2. WRABIED -\
3, FENFG >
s

IR 1

BRENME: ZRM/RMANab, AERAMEREEAEFE, WRE, NWEARABIL
RiEkL: "alike b”, MRAZE, NEREXFHREHF: 1 (BF) 2 (E
Z) 3 (EF) 4 (EF) ,

CER N [EZFEEIASIVE LECRIEHR)

FI@N 2 :

155 FARIULRIERSINE X



ZI@N 3

BREAFPRA—TEHT, ARBESI2PIBIVERIEFFSETHD



527

1. &3
2. NERE ' o
3. 1AfC S 4
s
BE RIS

FI)R0 2 -

BRSNS BEILTE1000 78T, RATAE SRERNEIEEE. #H, &
WERAmMIngEmaxiia, SHEEEPNRARIVE, AHREIMMIIRNESE,
R IV E T S A



FI)@ 3 -

BRSAB., BHBFIRETIE, HEHRN: AIRE—NSBIIRE—
AR — I, BECTHES AR, BEMTEHTET 8N — 13
&, FTEDHR.



PythonfJ R S FR7R

—

. BUZEAE A R £L

2. RS p\\'\y
3. FHHIRE p 4

=y

IR 1

BIE—TAHSNRE, RANINEESITEND— TN, MBI

* |
% % %
% % %%k %
L 2 % & &

v % v v e v e ke



ZIJR 2 -

BIE—TF =TS HRrIKEN,a,b, REMINEEN, ndIRF1, NWitHa+b, nilR
72, Wit8a-b, nAIRA3, NitEa * b ntlIRA4, MitEa /b

IR 3 -

BIE—TH—TSENNRE, RANINERN: FE—TNENFN, MIRERZF
FHUAREEN, MIREZAENFNHR, MRE/NENFFHE,



RmB1EK

1. B25%% 4. RASE

2. FETR 5. IESE y- 2 r‘
3. XEFTBY S 4

531

e N 2 IV

RN 2

TR, FERBH, EREBREAER



def get_factorial( n):
flag =1
foriinrange(l,n+1):

flag = flag * i
print(flag)
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numa = 12

def plus_self():
numa = numa * numa
return numa
plus_self()
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